
Which of the following is a complement of 490? 1)

500 410 440 650a) b) c) d)

Find the pair of angles that are not complementary.5)

400, 500 630, 270 350, 550 700, 220a) b) c) d)

Find the pair of angles that are supplementary.6)

820, 1000 1420, 580 930, 870 670, 1330a) b) c) d)
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Which of the following is a pair of supplementary angles? 4)

b)a) c)
900 900 880770 510990

Which pair of angles is not complementary?2)

b)a) c)
1230 570

210

420
480

Which of the following is a supplement of 1230? 3)

570 510 620 560a) b) c) d)

690

Preview

Become a member to unlock 
unrestricted access to both printable 

and online worksheets.

www.tutoringhour.com


